
3iJLQD�����1~PHUR��� 0DUWHV�����GH�IHEUHUR�GH�����

ZZZ�ERUP�HV
'�/��08������������,661�����������

$OKDPD�GH�0XUFLD

��� 1XHYD�FLWDFLyQ�SDUD�HO�SULPHU�HMHUFLFLR�GHO�SURFHVR�VHOHFWLYR�TXH�

VH�WUDPLWD�SDUD�FXEULU�XQD�SOD]D�GH�,QJHQLHUR�7pFQLFR�$JUtFROD�

3RU�OD�$OFDOGtD�3UHVLGHQFLD�GHO�$\XQWDPLHQWR�GH�$OKDPD�GH�0XUFLD�VH�KD�

GLFWDGR�GHFUHWR�Q~P�������GH�IHFKD����GH�HQHUR�GH�������TXH�UHVXHOYH�

³9LVWR�HO�GHFUHWR�GH�$OFDOGtD�Q~P���������GH�IHFKD����GH�QRYLHPEUH�GH�������

SXEOLFDGR�HQ�HO�%250�Q~P�������GH�IHFKD����GH�GLFLHPEUH�GH�������HQ�UHODFLyQ�

D�OD�FRQYRFDWRULD�GH�FRQFXUVR�RSRVLFLyQ�OLEUH�SDUD�OD�SURYLVLyQ�GH�XQD�SOD]D�

GH�,QJHQLHUR�7pFQLFR�$JUtFROD��SRU�HO�TXH�VH�UHVROYtD��HQWUH�RWURV��HQ�VX�SXQWR�

WHUFHUR�OLWHUDOPHQWH�

³&RQYRFDU�D�ORV�DV�DVSLUDQWHV�SDUD�OD�UHDOL]DFLyQ�GHO�SULPHU�HMHUFLFLR�GH�OD�

IDVH�GH�RSRVLFLyQ��TXH�VH�FHOHEUDUi�HQ�HO�&HQWUR�GH�)RUPDFLyQ�\�(PSOHR��VLWXDGR�

HQ�$YGD��*LQpV�&DPSRV�Q~P�����$�GH�HVWD�ORFDOLGDG��D�ODV�������KRUDV�GHO�GtD����

GH�IHEUHUR�GH�������(VWRV�GHEHUiQ�YHQLU�SURYLVWRV�GH�'1,´

HQHUR�GH�������D�REMHWR�GH�SUHSDUDU�OD�FHOHEUDFLyQ�GHO�SULPHU�HMHUFLFLR�SUiFWLFR��

SDUD�JDUDQWL]DU�HO�DQRQLPDWR�\�IDFLOLWDU�OD�SUHSDUDFLyQ�GHO�H[DPHQ�HQ�HO�PLVPR�

GtD�GH�VX�FHOHEUDFLyQ��

HQ�PDWHULD�GH�5pJLPHQ�/RFDO��WLHQH�D�ELHQ�

5HVROYHU�

3ULPHUR

GH�FLWDFLyQ�GH�ORV�DV�DVSLUDQWHV�SDUD�OD�UHDOL]DFLyQ�GHO�SULPHU�HMHUFLFLR�GH�OD�IDVH�

GH�RSRVLFLyQ��SRU�ORV�PRWLYRV�DQWHULRUPHQWH�H[SXHVWRV��TXHGDQGR�HO�SXQWR�����

FRQ�OD�VLJXLHQWH�UHGDFFLyQ��

&RQYRFDU�D�ORV�DV�DVSLUDQWHV�SDUD�OD�UHDOL]DFLyQ�GHO�SULPHU�HMHUFLFLR�GH�OD�

IDVH�GH�RSRVLFLyQ��TXH�VH�FHOHEUDUi�HQ�HO�&HQWUR�GH�)RUPDFLyQ�\�(PSOHR��VLWXDGR�

HQ�$YGD��*LQpV�&DPSRV�Q~P�����$�GH�HVWD�ORFDOLGDG��D�ODV�������KRUDV�GHO�GtD�

���GH�IHEUHUR�GH�������(VWRV�GHEHUiQ�YHQLU�SURYLVWRV�GH�'1,

6HJXQGR

HQ�HO�WDEOyQ�GH�DQXQFLRV�\�SiJLQD�ZHE�PXQLFLSDO�SDUD�JHQHUDO�FRQRFLPLHQWR�\�D�

ORV�HIHFWRV�RSRUWXQRV�́

/R�TXH�VH�SXEOLFD�SDUD�JHQHUDO�FRQRFLPLHQWR�

$OKDPD�GH�0XUFLD��D����GH�HQHUR�GH������²/D�$OFDOGHVD�3UHVLGHQWD��0���'RORUHV�

*XHYDUD�&DYD�

13(��$�����������


